DOUBLE-ACTING, HYDRAULIC RETURN
TONNAGE RANGE: 55-200

RDG

YPower Team
SERIES

Model Shown:

. QFeatures |
RDG Family

HEAVY LIFT, GENERAL PURPOSE CYLINDER FOR
TOUGH MRO APPLICATIONS.

)
S
()

o

=

>

O

B Double-Acting, hydraulic return cylinders, tonnages
ranging from 55-200.

B Patented swivel cap provides concentrated load
centering up to 5 degrees.

m Safety relief valve prevents over-pressurization of the
retract circuit.

B Sealing technology provides lubrication to reduce
friction and wear.

B “Power-Tech” nitro-carburization surface treatment
inhibits corrosion and provides exceptional durability.

Floating piston design resists side loading conditions.

Base mounting holes standard on all models (they are
not maintained to port location).

B Two high flow 3/8” NPTF female half coupler and
removeable carry strap w/ eyelets are included.

B Complies with ANSI / ASME B30.1 safety standards.

P RDG Series is perfect choice for any heavy lift MRO application.

RDG Series Design Features

Patented swivel cap minimizgs—®
side load conditions

®———— Robust retajning ring withstands
full load end stop

®—— Seal band technololg%r_educes
wear and provides [Ubricity

®—— Power-Tech surface treatment
provides extended durability

Carrying eyelets for ease™®
of positioning

- Heavy-duéy, heat treated piston rod for
the most demanding applications

Design complies with AMSE / 4
ANST'B30.1 Safety Standard
@———— Self-Aligning piston gland design
Resistsgsidg Igadingg 9
i —o
H@ [:eesrﬂéﬁg ﬁ’gn RDG10012 cutaway shown

Coupler(s) included

P Technical Dimensions, Base Mounting Holes

Four base mounting holes are 45°
apart - standard on all models.

29

Tonnage

# of Base Mounting Holes 4 4 4 4 4

Base thread size M12X1.75-6H | M12X1.75-6H | M16X1.5-6H | M16X1.5-6H | M20X1.5-6H
Base thread depth (mm) 18,0 18,0 15,7 22,9 30,5
Base Mounting Diameter (mm) 77,0 93,0 101,6 139,1 145,3

Orientation

Mounting hole orientation is not maintained to port location.




DOUBLE-ACTING, HYDRAULIC RETURN

RDG

TONNAGE RANGE: 55-200 SERIES

4 o
® Cylinder Selection =
=)
Q.
Power Team recommends using 80% of the rated @
capacity and stroke to maximize product performance v
and safety.
Custom stroke lengths are available, contact your local Power Team Sales Office for details and
availability.

P Ordering Information

Cyl.
Cap.

Stroke Order

No.

RDG552 3620 | 167,6
RDG554 2499 | 3515 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 7240 | 3351 50,1 21,9
RDG556 300,7 | 4531 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 1086,0 | 502,7 50,1 27,3
RDG558 351,5 | 554,7 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 14480 | 670,3 50,1 31,4
IRDICENORN 402,3 | 656,3 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 1809,9 | 8378 50,1 354
ISble N 4531 | 7579 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 21719 | 10054 | 50,1 39,5
RpIeLHCRN 4785 | 808,7 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 23529 | 10892 | 50,1 415
IMpIEN A 5039 | 859,5 | 1311 41,0 41,0 69,8 17,0 70,6 95,3 71,3 25339 | 11730 | 50,1 435
RDG752 2111 | 2619 | 146,8 44,8 44,8 79,3 19,3 823 | 11,2 97,0 492,7 | 2416 68,2 23,4
RDG754 261,9 | 3635 | 1468 44,8 44,8 79,3 19,3 823 | 112 97,0 9853 | 4832 68,2 30,6
RDG756 312,7 | 4651 | 1468 44,8 44,8 79,3 19,3 823 | 1112 97,0 1478,0 | 7247 68,2 355
DG758 3635 | 566,7 | 146,8 44,8 44,8 79,3 19,3 823 | 11,2 97,0 1970,7 | 966,3 68,2 40,4
SIEYEHIONN 4143 | 668,3 | 146,8 44,8 44,8 79,3 19,3 823 | 1112 97,0 24633 | 12079 | 68,2 45,2
RIEYLRPAN 4651 | 7699 | 1468 44,8 44,8 79,3 19,3 823 | 112 97,0 2956,0 | 14495 | 682 50,1
RPJeyLHke RN 4905 | 820,7 | 1468 448 448 79,3 19,3 823 | 11,2 97,0 3202,3 | 1570,3 | 68,2 52,5
RPIEYEHA 5159 | 8715 | 1468 44,8 44,8 79,3 19,3 823 | 1112 97,0 3448,7 | 1691,1 | 68,2 55,0
e (0o A 2210 | 2718 | 1659 47,1 47,1 95,2 234 98,3 | 130,2 133,1 676,3 | 3149 93,5 3213
DICHIV 08 2718 | 3734 | 1659 47,1 47,1 95,2 234 98,3 | 130,2 1331 1352,6 | 629,7 93,5 38,4
DICHIVO[ORN 3226 | 4750 | 1659 47,1 47,1 95,2 23,4 98,3 | 130,2 1331 2028,8 | 944,6 93,5 44,5
IDICH {00l 3734 | 576,6 | 1659 47,1 47,1 95,2 23,4 98,3 | 130,2 133,1 27051 | 12595 | 935 50,7
ISDICHIOoNON 4242 | 6782 | 1659 47,1 47,1 95,2 23,4 98,3 | 130,2 133,1 33814 | 15744 | 935 56,8
[a{vleulolokily 4750 | 7798 | 1659 47,1 47,1 95,2 234 98,3 | 130,2 1331 4057,7 | 1889,2 | 935 63,0
iplenlofokikcl 5004 | 830,6 | 1659 47,1 47,1 95,2 23,4 98,3 | 130,2 1331 43958 | 2046,7 | 935 66,0
IbIeH{ookZ8 5258 | 8814 | 1659 471 47,1 95,2 23,4 98,3 | 130,2 1331 4734,0 | 22041 | 935 69,1
{plenbsloz A 238,0 | 2888 | 1956 53,5 535 | 1142 241 | 1176 | 1588 198,0 1005,6 | 4851 | 1391 46,8
R{pIeHRl0ZE 288,8 | 3904 | 1956 53,5 535 | 1142 241 | 1176 | 1588 198,0 20113 | 970,2 | 1391 54,9
IMDICHESTOCAN 339,6 | 4920 | 1956 53,5 53,5 | 114,2 241 | 1176 | 158,8 198,0 3016,9 | 14553 | 1391 63,1
ISICH VAN 3904 | 5836 | 1956 53,5 535 | 114,2 241 | 1176 | 158,8 198,0 4022,5 | 19404 | 1391 71,3
R{PICHRSIONNON 4412 | 6952 | 1956 53,5 535 | 1142 241 | 1176 | 1588 198,0 5028,2 | 24255 | 1391 79,5
R{pleukSlokiZ 4920 | 7968 | 1956 53,5 535 | 1142 241 | 1176 | 1588 198,0 6033,8 | 2910,7 | 1391 87,7
INDICHSTONICE 5174 | 847,6 | 1956 53,5 53,5 | 1142 241 | 1176 | 158,8 198,0 6536,6 | 3153,2 | 1391 91,8
RICH SIS 5428 | 8984 | 1956 53,5 53,5 | 1142 241 | 1176 | 158,8 198,0 7039,4 | 33958 | 1391 95,8
a{pleyrloloz 8 2550 | 3058 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 13531 | 6445 | 1872 67,5
INpler{o]oZ 8 3058 | 4074 | 226,8 57,2 57,2 | 1333 26,9 | 1364 | 184,22 266,3 2706,1 | 1289,0 | 1872 78,6
IN[CP{00[GA 356,6 | 5090 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 4059,2 | 19334 | 1872 89,6
R O0ls i 407,4 | 6106 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 5412,2 | 2577,9 | 187,2 | 100,7
RIey 0[O0l 4582 | 7122 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 67653 | 32224 | 1872 | 1118
plerlofokizA 509,0 | 8138 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 8118,3 | 3866,9 | 1872 | 1228
RBICPIOJOkICA 5344 | 8646 | 226,8 57,2 57,2 | 1333 269 | 1364 | 1842 266,3 8794,9 | 4189,1 | 1872 | 1283
Rley 0ok 559,8 | 9154 | 226,8 57,2 57,2 | 1333 26,9 | 1364 | 1842 266,3 94714 | 45114 | 1872 | 1339

powerteam.com

A

Ret.
Height

B

Ext.
Height

©

Outside

Dia.

=

to
Port

Base

(mm)

H

Piston

Rod
Dia.

(mm)

K

Swivel
Cap
Pro-
tru-
sion

(mm)

Swivel
Cap
Dia.

(mm)

Cyl. Eff.
Area
(Ad-

vance)

(cm?)

o]]]
Cap.
(Ext.)

(cm?)

o]]]
Cap.
(Ret.)

(cm?)

Metric

Prod.

Tonsat Wt

700

(bar)

30




	PT_Catalog_2019_PT1901M 30
	PT_Catalog_2019_PT1901M 31



